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Tekst 3 

1p 4 De volgende drie alinea’s van tekst 3 staan hieronder, maar niet in de 
juiste volgorde. 
 Schrijf de letters van de alinea’s in de juiste volgorde op in de

uitwerkbijlage.

[a] In reaction to the protests, Headmistress Nicola Haddock apologized
in a letter to parents, admitting ‘mistakes were made’ at the event and that
all children should have had the same amount of time enjoying the
celebrations.

[b] She added: ‘Even prisons don’t punish you twice. Imagine getting ten
years for a crime and then two days before you get out they give you
another ten years.’

[c] The punishment applied to children who did not have the school’s
‘always badge’, given to the best-behaved pupils, but furious parents said
they had paid the same £10 fee for the party as everyone else. Kelly
McCarthy, whose child attends the school, said students had already been
disciplined for misbehaviour over the past year with detentions and
missed playtimes.

Tekst 4 

1p 5 Kies bij    5    in de tekst de juiste zin uit de gegeven mogelijkheden. 
A Camera phones are capable of producing better pictures than regular 

cameras. 
B Modern technology makes it easier to look back on important 

occasions. 
C People live their lives looking through a screen instead of enjoying the 

moment. 

Tekst 5 

1p 6 ‘Paichit was so malnourished that the shape of his ribs was visible from 
beneath his sagging skin.’ (alinea 1) 
 In welke alinea wordt duidelijk wat de mogelijke oorzaak hiervan is?
Noteer het nummer van deze alinea in de uitwerkbijlage.
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1p 7 What becomes clear about Sumatran elephants in paragraph 2? 
A They are hard to recognise in the wild. 
B They are too small to fight off predators. 
C They form a threat to human settlements. 
D They will probably vanish as a species. 

1p 8 Geef van de volgende beweringen aan of deze overeenkomen met 
alinea 3. 
Omcirkel ‘wel’ of ‘niet’ achter elk nummer in de uitwerkbijlage. 
1 Om milieuschade tegen te gaan, worden op Sumatra nieuwe bossen 

aangelegd. 
2 Er is een jachtverbod nodig om te voorkomen dat de wilde dieren op 

Sumatra uitsterven. 

1p 9 ‘the problem of human-elephant conflicts in Sumatra’ (alinea 4) 
 Welke zin uit een eerdere alinea beschrijft het probleem dat olifanten

veroorzaken?
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin. 

1p 10 What is the main purpose of elephant “rangers”, according to  
paragraph 4? 
A to help farmers with the heavy work on plantations 
B to prevent settlements from being invaded by elephants 
C to show the population that elephants need protection 
D to trap wild elephants so they can be captured and trained 

1p 11 What becomes clear about the CRU from paragraph 5? 
A It is not always successful in its attempts to set elephants free. 
B It lacks the money to give the elephants all the care they need. 
C It needs more animals for the program to become interesting. 
D It tries to prevent caretakers from bonding with the rescued animals. 

Tekst 6 

1p 12 Kies bij    12    in alinea 1 het juiste antwoord uit de gegeven 
mogelijkheden.  
A but can their powers be controlled so that the whole world can benefit 

from them? 
B but could they also be used to explain physics, engineering and 

graphene to students? 
C but do we need scientists doing research to find out why the public 

likes them? 


